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(ix) 9777 § & 397 G&I7 22 T 27 JINIHS BT T HTIRT §1-G1
HH & FoT & | 57 ST ARTTH 378 |

General Instructions :

(i)  The question paper comprises two Sections, A and B. You are
to attempt both the sections.

(i1) All questions are compulsory.

(iii) All questions of Section A and Section B are to be attempted
separately.

(iv) There is an internal choice in three questions of three marks
each, two questions of five marks each in Section A and in
one question of two marks in Section B.
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(v) Question numbers 1 to 2 in Section A are one mark
questions. They are to be answered in one word or in one
sentence.

(vi) Question numbers 3 to 5 in Section A are two marks
questions. These are to be answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three marks
questions. These are to be answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five marks
questions. These are to be answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on
practical skills. Each question is a two marks question. These
are to be answered in brief.

T —-A
SECTION - A

1. TiehegfE-<Iy =l ford SRR o ©i8 o IUAMT & T R ST @shat & 7 1

Which type of lens is used for the correction of myopia ?

2. WY 97 hl THSH &THAT T =7 31§ 7 1

What is the meaning of power of accommodation of human eye ?

3. fordlt gered ‘P’ & Siefia faetam o1 3w g%hel S 8 gidar 2 | g
‘P’ %1 W IR THEMS T fARaT | qgred ‘P’ < it & ffsha 1
g et off §fu | 2

An aqueous solution of a substance ‘P’ is used in white

washing. Name the substance ‘P’ and write its chemical
formula. Also write the chemical equation for the reaction of
substance ‘P’ with water.

31(B) 3 cn
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4. BT ol Gdl <t G S5 f=g 31 TRl 7 § | 3T =R
o fore 7 ST | 2

List two energy sources that you would consider to be

renewable. Give reasons for your choice.

5. Ui TR RS 7 TR A W R IS SER G ST | 2

What are trophic levels ? Make a food chain of four trophic

levels.

6. AT USSR &1 UM T fafay | 30 fohe JehR ST ST 8 7
g areft Tarfes JTfufeRan w1 aqfora st fafan | st ueet
% Teh HEwIqUl ST 1 Jeoi@ HIfT | 3

YT

3T ATt o GO HYE % (ohdll awd 1 Hethe, Toid 3R HhAd Tard &
58 @ # -9 o= STR{aal | g 51 ghal § | 59 39
fiTeh ! & THY o fI0 g1 BIgd &, 0 78 319 T4Ug & STt 2 e
el | BT AT el T | $6 Hothe Taul i TEATH-T, a1 I8 iy
foh 912 39 TR &1 SGER FT BT 7 | HEfIa JTOTRaT b1 Aefienon
ot i |

Write the chemical formula of bleaching powder. How is it

prepared ? Write balanced chemical equation for the reaction
involved. Write one important use of bleaching powder.
OR
31(B) 4 C/1
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A sulphate salt of group two element of the periodic table is
white, soft substance, which can be moulded into different
shapes by making it dough. When this compound is left in open
for sometime, it becomes a solid object and cannot be used for
moulding purposes. Identify this sulphate salt and explain why
does it show such a behaviour. Also give the equation for the

reaction involved.

7. (i) Totema wdiaqor QoM (ii) feaT™ BIESoH HIFi-e & A1 AT
TR 9T TIATA T UIHTSeh 370 & o= fades Hifu | wdHia =
THTEeh 3T | Ui fdd i § TN fohT ST 9ol STt Ui
T T 4 T | 3

Distinguish between ethanol and ethanoic acid on the basis of
(1) litmus test and (ii) reaction with sodium hydrogen carbonate.
Write the name and formula of the oxidizing agent used in the

conversion of ethanol to ethanoic acid.

8. @ Li, Na 3 K hHT: Yk 3Tad dROM o &R, et 3l =Y
A H € | 39 1 avall § HHISIehdl Sl 1 shl BT Ush ® | 1 feu
T Y91 o RO Gigd 3o ST
(i) 3= fp8 Tg § & ATfET 2
(i) 3T & B 91 o gl A Afuframia 2 2

(iii) 37 fopm e <Y wrmTo] Forsea SAfrenay 2 2 3
31(B) 5 C/1
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The elements Li, Na and K each having one valence electron
are in the 2™, 3" and 4" period respectively of Modern Periodic
Table.

Answer the following questions giving reasons :
(1) In which group should they be placed ?
(11) Which one of these elements is least reactive ?

(111) Which one of these elements has the largest atomic radius ?

9. (a) UIGH BIHMI hi YfHehT T Icoi@ HIT | IH 1T BIHA 1 ATH

forfgn St shifdrent fawmeM @ fotu smawee # |

(b) SRR H AfEleId 8 aTcl 9TeY BEH 1 19 3R IHeh!
YfHehT <hi SATEAT SHITT | 3

AT

(a) T=ferRaa o1 wmemr s areft Ui =61 9 forfau
(i) 3gIeH, (i) Arifae

(b) 3eTEX Higa =weAn Hif for A YR § wifad g9 ot g
o U 3T AT 1 =07 fohd TR BT # |

(a) State the role performed by plant hormones. Name a plant

hormone which is essential for cell division.

(b) Name and explain the role of plant hormone involved in

phototropism.

OR

31(B) 6 i
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(a) Name the gland that secrete :
(1) insulin, (1) thyroxin
(b) Explain with an example how the timing and amount of

hormone secreted are regulated in a human body.

10. (a) TMa OfETsH & 39 9T @1 AW fafge s fefataa s fEhka
W{?IT%:
(i) Ufese fhamd (i) e foramd
(b) TR qfrent T &1 Hew™ fRET | 38 TlAehl T o STFFal o A9
faRau 3R 37 Igwa & o= faver Sifs | 3

(a) Name the part of human brain which controls :

(1) voluntary actions (i1) involuntary actions
(b) State the significance of peripheral nervous system. Name
the components of this nervous system and distinguish

between their origins.

11. Stamem ®1 € 7 ¥ Tohd TR sHd 8 ? 39eh! 31 Feiid & i @l

fafert <t F=t ST | 3
3

M A" | T AT & 7 $Hoh T7T, ITGHT =R HRbI o AT

SHIST |

What are fossils ? How are these formed ? List two methods of
determining the age of fossils.

OR
What is speciation ? List four factors responsible for speciation.
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12. RO Afga SAmE Hif foh geaft & g8 o febra Yegent ot strenret et
1 femms <ot & | gt it aieha Sd STRIgE R ¥ $u W
AN i TRt fohm T 1 fe@mg o 7 319w 3T <t T |fEd
SATEAT T | 3

Explain giving reason why the sky appears blue to the

observers from the surface of the Earth. What will be the colour
of the sky for an Astronaut staying in an International Space

Station orbiting the Earth ? Explain your answer with reason.

13. 9 JMd & fob fohelt 4T b Tetes § Toeld 9T SaTfed &M X 3deh I
IR D & I B AT 3 | HRU Afgd 3T Gifore fop a
(i) T UM qAT (ii) =i o el IoAi o T i T oft 31 g7
T 3T ST TR o FEIehi¥ &1 I~ gl | Tohelt arragt €e =meteh
o TN 3R 39 B AT0] FEehd &3 o feun faff@ e # 3w
B aTet e o6 ferfae | 3

We know that an electric current through a metallic conductor
produces a magnetic field around it. Explain giving reason
whether a similar magnetic field will be produced around a thin
beam of moving (1) alpha particles, (i1) neutrons. Name the rule
applied to determine the direction of magnetic field produced

around a current carrying straight conductor.

31(B) 8 i
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14, foreft forera anfer = @y Sioft shw o S faega vt 1 yfteet i
T hiferg | fopelt Tt STHdTh o RIS i 37U ITIHAT &
RIS g SfeqTia @i T8l fera ST =iay ? 3

Explain the role of an electric fuse joined in series with an
electrical appliance. Why should a fuse with a defined rating

not be replaced by one with a larger rating ?

15. ‘Fuenl 3l @ g9 aft ufitfaa 8 S 1970 < uriyes <vres §

ferrerd 1 =l @l H TeATd & G TME H W ZIAT | U7
AT TR AT 3R AT= AThel o 39 dohel o i< TS &l
aferm o1 {518 36 719 o FHIY o ST o 987 hied 1 TR < fean

T o7 | T8 T JeheR o ATtk 98 e U5, Ial o Hare! I8y e
T 980 9, 37d: 98T hl Afgenati 3 3o i IETE I R & B
31T gl H WL (TFdeh oht) SeheR o SATHAT sl &1 e & T |

3=dd: Shel hl 3TUHT hIH T AT UL |

(i) TTia < AR J& e o foeg w1 & ?

(i) STeT epfl | wTffefeh e fohd SRR ST 1@ & ?
(iii) ““Terveh! ST G Y 7T G el <hl G SHTST | 3
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We are all familiar with the “Chipko Movement” which
originated in the early 1970s in a remote village of Garhwal

high up in Himalayas. This was a result of dispute between the
local villagers and a greedy contractor who had been allowed to
fell the trees in a forest close to the village. When contractor’s
workers appeared in the forest to cut the trees, the men folk
were not present, so the women folk took the lead in the
movement of preventing the contractor from felling the tree.
They hugged the trees and forced the contractor to withdraw :
(1) Why were the villagers against felling of trees ?

(11) How do forests maintain ecological balance in nature ?

(111) List two values exhibited by the “Chipko Movement”.

16. (a) Hfctd THTAH THHI RIT g ? YA THIHU ol Tdiord

HTT FA 6 8 7

(b) ¥t sfIfETs % Tamfe whw fafer fed 99 e
e 81 2 -
(i) T H giedH
(ii) a9 & gfeaH
(iii) 3T ST 5

(a) What is a balanced chemical equation ? Why should
chemical equations be balanced ?

(b) Write the chemical equation of the reaction in which the
following changes have taken place :
(i) Change in colour.

(i1)) Change in temperature.
(i11) Formation of precipitate.

31(B) 10 cn
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17. (a) @fsharar Soft o a8 S fra arqati o ey 6 fafer afsera
oft & we o feua angati o fasshuur Y fafer @ o=y 819 % swror
T SR HINTT | 9ok ToTT THM IThAT 6T ITANT AT &1 T
ST "ehdl ¢

(b) THIeRoT T TR © Eifeam & fswyur 6 aferan it =men
T | 5

YAl

(a) 3IWIYHT ATFATES T A 8 7 q IWIUHT ATFATEST o IGTaT
qITT |

(b) TR @1 3 ? RemeR @ arg fhe gehr fswida i It 2 7
Y § ST HIfT |

(a) Explain why the method of extraction of metals high up in
the reactivity series is different from the method of

extraction of metals in the middle of the series. Why cannot
the same process be applied for them ?

(b) With the help of equation explain the process of extraction
of sodium.

OR

(a) What are amphoteric oxides ? Give examples of two
amphoteric oxides.

(b) What 1s Cinnabar ? How is metal extracted from Cinnabar ?
Explain in brief.

31(B) 11 C/1
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18. (a) T o a8 af & fIf= =eehi & T 3T 3Toh ST hl FaT |
IeeT@ IV |

(b) TfeR aTfgentati o a ° f@d IEY 8 W BN o1 UahT fha
YhR SAAT R 7 5

(a) Write the name of different components of transport
system in human beings and state their functions in brief.

(b) How is blood clot form, if a leak develops in the system of
blood vessels ?

19. SATOT SRIT 2 7 Uledl | Ig fohE TR BT @ 7 T <hifaw fob wmmor
form wopR = ST UG T 2 | 5

What is Pollination ? How does it occur in plants ? Explain how
pollination leads to fertilisation.

20. (a) TehTI o AEcH o fm fafeu |

(b) Toreht aream & fuer srqaiaTes 1 T 3L 7 ?

(c) BR =1 FUe STuedms 2.42 B | Al i &1 e Auedms
1.5 AT Shid | Y1 hl =1 2 x 108 m/s B, a1 BR § TehrsT hl
ATl RehoTd ShifaT | 5

AT

(a) RIS o T o 7w ferfau |

(b) Hwdet gdur g s gfcfera o g g 1qort <Y geft seTg |

©) g fems —20 cmﬁw@%wwm%ww cm
U W@ g | 39 U0 § ToRell v i fehal g0 TR T@ I T 38
X fors o1 T wffers s 2
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(a) State the laws of refraction of light.
(b) What is meant by absolute refractive index of a medium.

(c) The absolute refractive index of diamond is 2.42. If the
absolute refractive index of glass is 1.5 and the speed of
light in glass is 2 x 108 m/s, calculate the speed of light in
diamond.

OR
(a) State the laws of reflection of light.

(b) List any two characteristics of the images formed by plane
mirrors.

(c) An object is placed in front of a spherical mirror of focal
length —20 cm at a distance of 30 cm. At what distance
from the mirror a screen be placed in order to obtain a
sharp image of the object on it ?

21. (a) Torga st <t afvamn fefague | g8 fawaraR V2 3R afadg R
% Tei o = Shifa |
(b) 1S ferga @eT 220 V % forega &1d & 5.0A 910 ot B | 39 WX
st wifehs feifca Shifsre aum 5 =ve o qiex g 3uged Sl kWh o
qiehletd iU | 5

(a) Define electric power. Express it in terms of potential

difference ‘V’ and resistance ‘R’.

(b) An electric motor takes 5.0A from an electric source of
220 V. Determine the power of the motor and calculate the
energy consumed by the motor in kWh, when it runs for
5 hours.

31(B) 13 i
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SECTION-B
22. 9 HCI s frfarRaa & sy srfrfsranati & Jemor ferfge
(i) e fetema = (i) o fotema o=
(iii) freh-hfuTepTd (iv) 3/ NaHCO, 2
State observations of the reactions of dil. HCI with the following :
(1) Blue litmus paper (i1) Red litmus paper
(i11) Zinc-granules (iv) Solid NaHCO3

23. 3T9%h T8 5 % & 71 A 3R B & | 374 ¥ 319 g fawed fohd TR
U1 foh T8 ¥ M 1 TG G A 1 2 IR DA A FIR TA DR 7 2
You have two samples of water marked A and B. How would

you distinguish between the two if one sample is of soft water

and the other is of hard water ?

24. 3TUeh! s 0T T T T&I0 hid o W It <hl feleett o1 STEmRh
ST IR S T&T 2 | STEARAT AT IR shid 9 39 fore) 31fswsren
3R frorardi <1 ST el AT FMEY 7 $9 1 5alt <hl YikreR! ffae | 2

Your friend is preparing a temporary mount of a leaf peel to
observe stomata. At which stage of preparation, should he use a
stain and glycerine. State the role of these two liquids.

31(B) 14 C/1

Nurturing Success of Every Child https://deekshalearning.com



o Deekshd
25. 99 ®IE B e A fggves & fafy= =won &1 guia areft T
TATSE o1 J&TUT hLdT &, I BTHIIG: o8 35 TTshaT oh TR TN ohl J&T0T
AT 2 | 37 TN 1 ShHTR JUH HIfT | 2

When a student observes a slide showing different stages of
binary fission in Amoeba, he generally observes four stages of

the process. Describe these stages in a proper sequence.

26. Torell B 1 1QT T Faac guur H fehean gt forelt g o =61
IS Tk [T T @ | =T e e i o IR i

(i) Tora =1 =99 o Tm 38 A i Q) FraentaET stat =t ?
(i) I Gl FTA U o T 38 Topd gt <l HIOAT =TfeT SR 2 2

A student has to determine the focal length of a given concave
mirror by focussing a distant object. Answer the following

questions :

(1) Which two precautions should he observe while selecting

the object ?

(11) Which distance should he measure to determine the focal

length and why ?

31(B) 15 cn
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27. it 560 H A €1 gfaieshl o SRS *1 qedt Sfald 1 &
A 4 foRe B gRT SRl S aTel! IR AEdTEl 6 el sse | 2

Yl

fereft afaieres @ genfea amr (1) W 39 Bl & i favyam=w (V)
ffeat =1 31eem & TN | foret BT 3 3T B: I arferereg
# fou 2 | afe 3@ 98 V 3R 1 % o= U1 Eiwdr g, 9 9% 6
JTTRIcT R BT 3R 39w fssh Fehrett ST @ehat 8 7

List four precautions which a student observes while
performing the experiment of determining the equivalent

resistance of a combination of two resistors connected in series.
OR

In the experiment of studying the dependence of potential
difference (V) across a resistor on the current (I) passing
through it a student has tabulated a set of six observations. If,
now he draws a graph between V and I, what will be the shape

of the graph and what conclusion can be drawn from it ?

31(B) 16 i
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